

	Dale									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	_	-	_
Canola	Pound	All	-	_	-	-	_	\$0.19	_	-	-	-	_
Corn	Bushel	All	116.96	\$5.03	\$588.31	\$505.95	\$58.83	\$4.10	123.40	109.05	116.96	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	45.13	\$5.30	\$239.19	\$205.70	\$23.92	\$4.05	50.79	44.88	45.13	\$4.56	\$4.03
Oats	Bushel	All	44.36	\$3.76	\$166.79	\$143.44	\$16.68	\$3.30	43.46	38.41	44.36	\$3.23	\$2.86
Peanuts	Pound	All	3,036.56	\$0.27	\$812.89	\$699.09	\$81.29	\$0.23	3,017.18	2,666.38	3,036.56	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	_	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,762.47	\$0.41	\$1,119.08	\$962.41	\$111.91	\$0.36	2,695.80	2,382.35	2,762.47	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,779.67	\$0.41	\$720.94	\$620.01	\$72.09	\$0.36	1,736.69	1,534.79	1,779.67	\$0.35	\$0.31
Soybeans	Bushel	All	36.87	\$12.17	\$448.71	\$385.89	\$44.87	\$9.90	38.98	34.45	36.87	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	49.56	\$6.72	\$333.04	\$286.41	\$33.30	\$5.65	50.69	44.80	49.56	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



ı	Dallas									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.50	_	-	_	-	_
Canola	Pound	All	-	-	-	-	_	\$0.19	_	-	-	-	_
Corn	Bushel	All	139.81	\$5.03	\$703.24	\$604.79	\$70.32	\$4.10	147.51	130.36	139.81	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	46.47	\$5.30	\$246.29	\$211.81	\$24.63	\$4.05	52.30	46.22	46.47	\$4.56	\$4.03
Oats	Bushel	All	46.91	\$3.76	\$176.38	\$151.69	\$17.64	\$3.30	45.96	40.62	46.91	\$3.23	\$2.86
Peanuts	Pound	All	3,277.06	\$0.27	\$877.27	\$754.45	\$87.73	\$0.23	3,256.11	2,877.51	3,277.06	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	_	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,600.54	\$0.41	\$1,053.48	\$905.99	\$105.35	\$0.36	2,537.76	2,242.69	2,600.54	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,706.11	\$0.41	\$691.15	\$594.39	\$69.12	\$0.36	1,664.93	1,471.34	1,706.11	\$0.35	\$0.31
Soybeans	Bushel	All	38.43	\$12.17	\$467.69	\$402.21	\$46.77	\$9.90	40.63	35.90	38.43	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	38.82	\$6.72	\$260.87	\$224.35	\$26.09	\$5.65	39.71	35.09	38.82	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



I	DeKalb									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	48.00	\$5.88	\$282.24	\$242.73	\$28.22	\$5.50	44.13	39.00	48.00	\$5.06	\$4.47
Canola	Pound	All	-	-	-	-	-	\$0.19	-	-	-	-	-
Corn	Bushel	All	173.98	\$5.03	\$875.12	\$752.60	\$87.51	\$4.10	183.56	162.22	173.98	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	51.27	\$5.30	\$271.73	\$233.69	\$27.17	\$4.05	57.70	50.99	51.27	\$4.56	\$4.03
Oats	Bushel	All	59.04	\$3.76	\$221.99	\$190.91	\$22.20	\$3.30	57.85	51.12	59.04	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	· -	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	2,482.32	\$0.41	\$1,005.59	\$864.81	\$100.56	\$0.36	2,422.41	2,140.76	2,482.32	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	47.19	\$12.17	\$574.30	\$493.90	\$57.43	\$9.90	49.89	44.09	47.19	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	70.00	\$6.72	\$470.40	\$404.54	\$47.04	\$5.65	71.60	63.27	70.00	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



E	Elmore									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	-	-	-	-	-
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	-
Corn	Bushel	All	173.28	\$5.03	\$871.60	\$749.58	\$87.16	\$4.10	182.82	161.57	173.28	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	45.80	\$5.30	\$242.74	\$208.76	\$24.27	\$4.05	51.54	45.55	45.80	\$4.56	\$4.03
Oats	Bushel	All	54.00	\$3.76	\$203.04	\$174.61	\$20.30	\$3.30	52.91	46.76	54.00	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	1,787.30	\$0.41	\$724.04	\$622.67	\$72.40	\$0.36	1,744.15	1,541.37	1,787.30	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	46.60	\$12.17	\$567.12	\$487.72	\$56.71	\$9.90	49.26	43.54	46.60	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	57.67	\$6.72	\$387.54	\$333.28	\$38.75	\$5.65	58.99	52.13	57.67	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



Es	scambia									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	-	-	_
Canola	Pound	All	-	-	-	-	_	\$0.19	_	-	-	-	_
Corn	Bushel	All	-	_	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Irrigated	196.96	\$5.03	\$990.71	\$852.01	\$99.07	\$4.10	207.80	183.64	196.96	\$4.33	\$3.82
Corn	Bushel	Nonirrigated	167.74	\$5.03	\$843.73	\$725.61	\$84.37	\$4.10	176.98	156.40	167.74	\$4.33	\$3.82
Grain Sorghum	Bushel	All	-	-	-	-	-	\$4.05	-	-	-	-	-
Oats	Bushel	All	50.71	\$3.76	\$190.67	\$163.98	\$19.07	\$3.30	49.69	43.91	50.71	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	4,878.33	\$0.27	\$1,305.93	\$1,123.10	\$130.59	\$0.23	4,847.17	4,283.60	4,878.33	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	4,051.30	\$0.27	\$1,084.53	\$932.70	\$108.45	\$0.23	4,025.42	3,557.40	4,051.30	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,243.16	\$0.41	\$908.70	\$781.48	\$90.87	\$0.36	2,188.99	1,934.48	2,243.16	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,802.81	\$0.41	\$730.32	\$628.08	\$73.03	\$0.36	1,759.30	1,554.76	1,802.81	\$0.35	\$0.31
Soybeans	Bushel	All	41.52	\$12.17	\$505.30	\$434.56	\$50.53	\$9.90	43.89	38.79	41.52	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	52.00	\$6.72	\$349.44	\$300.52	\$34.94	\$5.65	53.19	47.01	52.00	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



E	towah									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	_	\$5.50	_	-	-	-	_
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	_
Corn	Bushel	All	157.91	\$5.03	\$794.29	\$683.09	\$79.43	\$4.10	166.60	147.23	157.91	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	· -	-	· -	· -	\$4.10	-	-	-	· -	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	52.67	\$5.30	\$279.15	\$240.07	\$27.92	\$4.05	59.27	52.38	52.67	\$4.56	\$4.03
Oats	Bushel	All	59.67	\$3.76	\$224.36	\$192.95	\$22.44	\$3.30	58.47	51.67	59.67	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	2,313.00	\$0.41	\$937.00	\$805.82	\$93.70	\$0.36	2,257.17	1,994.73	2,313.00	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	37.27	\$12.17	\$453.58	\$390.08	\$45.36	\$9.90	39.40	34.82	37.27	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	1,127.00	\$0.23	\$264.06	\$227.09	\$26.41	\$0.18	1,297.60	1,146.74	1,127.00	\$0.20	\$0.18
Wheat	Bushel	All	67.22	\$6.72	\$451.72	\$388.48	\$45.17	\$5.65	68.76	60.76	67.22	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



F	ayette									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	_	-	-
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	-
Corn	Bushel	All	108.88	\$5.03	\$547.67	\$471.00	\$54.77	\$4.10	114.88	101.52	108.88	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	52.93	\$5.30	\$280.53	\$241.26	\$28.05	\$4.05	59.57	52.64	52.93	\$4.56	\$4.03
Oats	Bushel	All	48.22	\$3.76	\$181.31	\$155.93	\$18.13	\$3.30	47.25	41.76	48.22	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	2,312.47	\$0.41	\$936.78	\$805.63	\$93.68	\$0.36	2,256.64	1,994.26	2,312.47	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	27.12	\$12.17	\$330.05	\$283.84	\$33.01	\$9.90	28.67	25.34	27.12	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	64.69	\$6.72	\$434.72	\$373.86	\$43.47	\$5.65	66.17	58.48	64.69	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



F	ranklin									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	-	-	-	_	_
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	_
Corn	Bushel	All	139.47	\$5.03	\$701.53	\$603.32	\$70.15	\$4.10	147.15	130.04	139.47	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	60.33	\$5.30	\$319.75	\$274.99	\$31.98	\$4.05	67.90	60.00	60.33	\$4.56	\$4.03
Oats	Bushel	All	54.33	\$3.76	\$204.28	\$175.68	\$20.43	\$3.30	53.23	47.05	54.33	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	2,238.41	\$0.41	\$906.78	\$779.83	\$90.68	\$0.36	2,184.37	1,930.39	2,238.41	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	40.63	\$12.17	\$494.47	\$425.24	\$49.45	\$9.90	42.95	37.96	40.63	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	70.22	\$6.72	\$471.88	\$405.82	\$47.19	\$5.65	71.82	63.47	70.22	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



G	Geneva									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	_	\$5.50	_	-	_	-	_
Canola	Pound	All	-	_	-	-	-	\$0.19	_	-	-	-	_
Corn	Bushel	All	-	-	-	-	-	\$4.10	-	-	-	-	-
Corn	Bushel	Irrigated	192.47	\$5.03	\$968.12	\$832.58	\$96.81	\$4.10	203.07	179.46	192.47	\$4.33	\$3.82
Corn	Bushel	Nonirrigated	98.93	\$5.03	\$497.62	\$427.95	\$49.76	\$4.10	104.38	92.24	98.93	\$4.33	\$3.82
Grain Sorghum	Bushel	All	43.03	\$5.30	\$228.06	\$196.13	\$22.81	\$4.05	48.42	42.80	43.03	\$4.56	\$4.03
Oats	Bushel	All	47.13	\$3.76	\$177.21	\$152.40	\$17.72	\$3.30	46.18	40.81	47.13	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	3,922.67	\$0.27	\$1,050.10	\$903.09	\$105.01	\$0.23	3,897.63	3,444.45	3,922.67	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,930.54	\$0.27	\$784.51	\$674.68	\$78.45	\$0.23	2,911.83	2,573.28	2,930.54	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,472.02	\$0.41	\$1,001.42	\$861.22	\$100.14	\$0.36	2,412.35	2,131.88	2,472.02	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,530.05	\$0.41	\$619.82	\$533.05	\$61.98	\$0.36	1,493.11	1,319.52	1,530.05	\$0.35	\$0.31
Soybeans	Bushel	All	28.46	\$12.17	\$346.36	\$297.87	\$34.64	\$9.90	30.09	26.59	28.46	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	1,088.00	\$0.23	\$254.92	\$219.23	\$25.49	\$0.18	1,252.69	1,107.09	1,088.00	\$0.20	\$0.18
Wheat	Bushel	All	38.51	\$6.72	\$258.79	\$222.56	\$25.88	\$5.65	39.39	34.81	38.51	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



C	Greene									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	-	-	-
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	-
Corn	Bushel	All	162.26	\$5.03	\$816.17	\$701.91	\$81.62	\$4.10	171.20	151.29	162.26	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.10	-	-	_	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	44.47	\$5.30	\$235.69	\$202.69	\$23.57	\$4.05	50.04	44.23	44.47	\$4.56	\$4.03
Oats	Bushel	All	51.50	\$3.76	\$193.64	\$166.53	\$19.36	\$3.30	50.46	44.60	51.50	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	1,865.52	\$0.41	\$755.72	\$649.92	\$75.57	\$0.36	1,820.48	1,608.82	1,865.52	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	31.60	\$12.17	\$384.57	\$330.73	\$38.46	\$9.90	33.41	29.52	31.60	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	60.44	\$6.72	\$406.16	\$349.30	\$40.62	\$5.65	61.82	54.63	60.44	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



	Hale									MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	_	-	_
Canola	Pound	All	-	-	-	-	-	\$0.19	-	_	-	-	_
Corn	Bushel	All	179.67	\$5.03	\$903.74	\$777.22	\$90.37	\$4.10	189.56	167.52	179.67	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	· -	-	\$4.10	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	45.80	\$5.30	\$242.74	\$208.76	\$24.27	\$4.05	51.54	45.55	45.80	\$4.56	\$4.03
Oats	Bushel	All	-	-	-	-	-	\$3.30	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	1,686.00	\$0.41	\$683.00	\$587.38	\$68.30	\$0.36	1,645.29	1,454.01	1,686.00	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	43.18	\$12.17	\$525.50	\$451.93	\$52.55	\$9.90	45.65	40.34	43.18	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	59.78	\$6.72	\$401.72	\$345.48	\$40.17	\$5.65	61.15	54.04	59.78	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



	Henry									MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.50	_	_	_	-	_
Canola	Pound	All	-	-	-	_	_	\$0.19	_	-	_	-	_
Corn	Bushel	All	-	_	-	-	-	\$4.10	-	-	_	-	-
Corn	Bushel	Irrigated	185.72	\$5.03	\$934.17	\$803.39	\$93.42	\$4.10	195.95	173.16	185.72	\$4.33	\$3.82
Corn	Bushel	Nonirrigated	77.62	\$5.03	\$390.43	\$335.77	\$39.04	\$4.10	81.89	72.37	77.62	\$4.33	\$3.82
Grain Sorghum	Bushel	All	42.54	\$5.30	\$225.46	\$193.90	\$22.55	\$4.05	47.87	42.31	42.54	\$4.56	\$4.03
Oats	Bushel	All	44.27	\$3.76	\$166.46	\$143.16	\$16.65	\$3.30	43.38	38.34	44.27	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	4,252.16	\$0.27	\$1,138.30	\$978.94	\$113.83	\$0.23	4,224.99	3,733.75	4,252.16	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,817.16	\$0.27	\$754.15	\$648.57	\$75.42	\$0.23	2,799.14	2,473.67	2,817.16	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,867.21	\$0.41	\$1,161.51	\$998.90	\$116.15	\$0.36	2,798.01	2,472.69	2,867.21	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,594.44	\$0.41	\$645.91	\$555.48	\$64.59	\$0.36	1,555.94	1,375.04	1,594.44	\$0.35	\$0.31
Soybeans	Bushel	All	39.54	\$12.17	\$481.20	\$413.83	\$48.12	\$9.90	41.80	36.94	39.54	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	28.98	\$6.72	\$194.75	\$167.49	\$19.48	\$5.65	29.64	26.20	28.98	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



Н								Assumes MYA Price Projection		Assumes Cou Assump		•	
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.50	_	-	-	-	_
Canola	Pound	All	-	_	-	-	_	\$0.19	-	-	-	-	_
Corn	Bushel	All	-	_	-	-	_	\$4.10	_	_	_	-	_
Corn	Bushel	Irrigated	196.73	\$5.03	\$989.55	\$851.01	\$98.96	\$4.10	207.56	183.43	196.73	\$4.33	\$3.82
Corn	Bushel	Nonirrigated	74.39	\$5.03	\$374.18	\$321.79	\$37.42	\$4.10	78.48	69.36	74.39	\$4.33	\$3.82
Grain Sorghum	Bushel	All	46.53	\$5.30	\$246.61	\$212.08	\$24.66	\$4.05	52.36	46.28	46.53	\$4.56	\$4.03
Oats	Bushel	All	43.48	\$3.76	\$163.48	\$140.59	\$16.35	\$3.30	42.60	37.65	43.48	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	· -	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	4,618.69	\$0.27	\$1,236.42	\$1,063.32	\$123.64	\$0.23	4,589.17	4,055.59	4,618.69	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,746.49	\$0.27	\$735.24	\$632.31	\$73.52	\$0.23	2,728.96	2,411.70	2,746.49	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,599.85	\$0.41	\$1,053.20	\$905.75	\$105.32	\$0.36	2,537.09	2,242.10	2,599.85	\$0.35	\$0.31
Seed Cotton	Pound	Nonirrigated	1,572.02	\$0.41	\$636.83	\$547.67	\$63.68	\$0.36	1,534.06	1,355.71	1,572.02	\$0.35	\$0.31
Soybeans	Bushel	All	33.62	\$12.17	\$409.16	\$351.88	\$40.92	\$9.90	35.54	31.41	33.62	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	45.62	\$6.72	\$306.57	\$263.65	\$30.66	\$5.65	46.66	41.24	45.62	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat		Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields



j:								Assumes MYA Price Projection		Assumes County Assumption		•	
Crop Name	Unit	ARC-CO Yield Designation	2025 Benchmark Yield (2019-23 olympic avg)	2025 Benchmark Price (2019-23 olympic avg)	2025 Benchmark Revenue per Acre	2025 Revenue Guarantee per Acre	2025 Maximum Payment Rate per Acre	2025/26 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2025-26 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	48.89	\$5.88	\$287.47	\$247.22	\$28.75	\$5.50	44.95	39.72	48.89	\$5.06	\$4.47
Canola	Pound	All	-	-	φ207. <del>4</del> 7	- -	-	\$0.19	-	-	-	-	- γ-ι-τ <i>γ</i>
Corn	Bushel	All	154.92	\$5.03	\$779.25	\$670.16	\$77.93	\$4.10	163.45	144.45	154.92	\$4.33	\$3.82
Corn	Bushel	Irrigated	-	-	-	-		\$4.10	-	-	-		-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.10	-	-	-	-	-
Grain Sorghum	Bushel	All	53.40	\$5.30	\$283.02	\$243.40	\$28.30	\$4.05	60.10	53.11	53.40	\$4.56	\$4.03
Oats	Bushel	All	53.44	\$3.76	\$200.93	\$172.80	\$20.09	\$3.30	52.36	46.28	53.44	\$3.23	\$2.86
Peanuts	Pound	All	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.23	-	-	-	-	-
Seed Cotton	Pound	All	2,804.78	\$0.41	\$1,136.22	\$977.15	\$113.62	\$0.36	2,737.09	2,418.85	2,804.78	\$0.35	\$0.31
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.36	-	-	-	-	-
Soybeans	Bushel	All	41.94	\$12.17	\$510.41	\$438.95	\$51.04	\$9.90	44.34	39.18	41.94	\$10.47	\$9.25
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$9.90	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.18	-	-	-	-	-
Wheat	Bushel	All	69.53	\$6.72	\$467.24	\$401.83	\$46.72	\$5.65	71.12	62.85	69.53	\$5.78	\$5.11
Wheat	Bushel	Irrigated	-	-	-	-	-	\$5.65	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$5.65	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2019-2023 county yields